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Must be equal = question of convention
what is up and what is down



Must be equal = question of convention 
what is up and what is down


.

¢ Sxescher [ (o) =7 (‘r}-w=0)

} must vanish for both theta=0 and
‘(/ theta=pi by the same helicity arguments
as before for transverse W

dite)  em, vo P ulbti!
= 4 L O <« ,
d_2 jer ¢ (why?72)
answer: no preferred direction
_ I
o) = I 27 fﬁwu{o Hp 'O
lr- & O —
9/3
v/
o) = S = r(+) =r{-1)
ad T

must be same = rotational symmetry still
present when W at rest


must be same = rotational symmetry still
present when W at rest

must vanish for both theta=0  and 
theta=pi by the same helicity arguments
as before for transverse W

answer: no preferred direction 
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